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Handle(MyProgressindicator) anindicator = new MyProgressindicator;
Standard_Real aStartAngle = 0.5 * PI;

Standard_Real anEndAngle = 1.5 * PI;

Standard_Real aDelta = P1/6.;

anindicator->SetRange (aStartAngle, anEndAngle);
anindicator->SetStep (aDelta);

for (Standard Real aCurrentAngle = aStartAngle; aCurrentAngle <=

aStartAngle; aCurrentAngle += aDelta, anindicator->Increment()) {
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operation can allocate a sub-range for its sub-operations so that they report



progress within their sub-ranges. The progress indicator will take care to map

local value into a global range.)

void MyLongOperation ()

{

Handle(Message Progressindicator) anindicator = new Mylndicator;
anindicator->SetRange (0, 100); //100% complete

anindicator->NewScope (60., "The longest suboperation"); //first  sub
operation takes 60%
MyLongSubOperationl (anindicator);

anlndicator->EndScope ();

anindicator->NewScope (30.); // 30%
MyLongSubOperation2 (anindicator);

anindicator->EndScope ();

anindicator->NewScope (10.); // 10%
MyLongSubOperation3 (anindicator);

anindicator->EndScope ();

void MyLongSubOperationl  (const Handle(Message Progressindicator)&
thelndicator)

{

Standard_Integer aNbSteps = ...; //small chunks of work
thelndicator->SetRange (0, aNbSteps);

for (inti=1; i <= aNbSteps; i++, thelndicator->Increment()) {

0000000000000000 30000000000000000
MyLongSubOperation...() 00000000000 0000000000000



00O MyLongSubOperationl() OO SetRange()U OO O0OO0OO0OOOOOMO

Joooooooooooooon oooooooooooooooooooo
Jo0oodon SetName() OO OOOO NewScope() O

Jo0o00ooodoo0ooooobooooooooooooooobDao
UserBreak() O

00000 o0ooDoobooobdodond(infinite regions) O O

Message ProgressSentry OO OO0O0O0OOOOO0OO0OOOOOOOOO0NO
Jo0dodoodod  IGESToBRep CurveAndSurface.cxx U0 0O 00O O O

HREEN

Joooogodod

Message Progressindicator 0O OO0 O0O0O0O0O0OO0OO0OOOOOOO
OO0000—— Show()O UserBreak() DO OO0 O0OUOOOoOOOooOO

bbbt obobououbotdbouobooboon

oo ..)
POSTED BY ROMAN LYGIN AT 23:51, 2009-01-27 ¥

020 GUl oot

(O0o0)

GUI O0O0O0O

[0 Message Progressindicator OO0 UOOU0OO0O0OO0OO0OOOO GUIOOOO
Jdo0odooooooooooooooooan (DO0O0OOOooo Hyooo
Joodooouooodood  Show() O UserBreak() U0 O

000 QOLib(Qt/Open CASCADE Library) 0OO0OO0OOO QtO QProgressDialog
00o0000oodooodd ooodoooooon  QProgressBar, QLabel
0000 QButton OO0



S
— Exi hangel = E‘H
/! [ = b

il I
Ziie as~ 000 800 @

\SCADE

TECHNOLOGY

D0o0odoon Qb OOO0OOOnO

class QOBase_Progressindicator : public Message Progressindicator

{
public:

[/ OO0o0od
Standard EXPORT QOBase_Progressindicator (QWidget* theParent,
int theMinVal = 0, int theMaxVal = 100, Qt::WindowFlags theFlags = 0);

/. OO0000
Standard EXPORT virtual ~QOBase_Progressindicator ();

/. " OO0o0ooodo
Standard  EXPORT virtual Standard_Boolean Show

Standard_Boolean theForce);

M O00000000000000ogg Trueld
Standard_EXPORT virtual Standard_Boolean UserBreak();

protected:

QProgressDialog* myProgress;

(const



public:
DEFINE_STANDARD_ RTTI(QOBase_ Progressindicator)
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*/

QOBase_Progressindicator::QOBase Progressindicator (QWidget* theParent,
int theMinVal, int theMaxVal,

Qt::WindowFlags theFlags)

{
QOLib_ASSERT (theMinVal < theMaxVal);

myProgress = new QProgressDialog (theParent, theFlags);
myProgress->setWindowModality (Qt::WindowModal);
myProgress->setMinimum (theMinVal);
myProgress->setMaximum (theMaxVal);

myProgress->setMinimumDuration (500); /0000 >500ms OOOOOO
[]

SetScale (theMinVal, theMaxVal, 1);// 0000 Qt O Open CASCADE OO O
}

A O00oo0o0ooooodg *
QOBase_Progressindicator::~QOBase_Progressindicator ()
{

if (myProgress) {

delete myProgress;

myProgress = 0;

}

}
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Standard_Boolean QOBase_Progressindicator::Show (const

Standard_Boolean theForce)

{

Handle(TCollection_HAscIiiString) aName = GetScope(l).GetName(); // OO
O

If ('laName.IsNull())

myProgress->setLabelText (aName->ToCString());

Standard_Real aPc = GetPosition(); //always within [0,1]

int aVal = myProgress->minimum() + aPc *
(myProgress->maximum() - myProgress->minimum());
myProgress->setValue (aVal);

QApplication::processEvents(); // DDOOOOOO GUI OO

return Standard_True;

}

A 00 TruedOUOOOODOOOOO QProgressDialog OO0 OO0
*/
Standard_Boolean QOBase_Progressindicator::UserBreak()

{

return myProgress->wasCanceled();

}
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